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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, from which device(s) does R3 learn about Route X? 

A. both R2 and R1 

B. R1 only 

C. directly from the router in AS 64502 

D. R2 only 

Correct Answer: B 

Explanation: R2 can not forward IBGP learned routes to another IBGP neighbor correct 

 

QUESTION 2

Exhibit 
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The routers shown in the exhibit ate configured for segment routing. 

In this scenario, what is the adjacency SIO that Router B advertises to Router A? 

A. 12 

B. 10.1.1.1 

C. 10.1.1.2 

D. 11 

Correct Answer: B 

 

QUESTION 3

An OSPF router does not have a router ID configured. 

In this scenario, which statement is correct about the router ID? 

A. The Junos OS will use the IP address assigned to the interface with the lowest MAC address. 

B. A router ID will not be assigned until it is manually configured. 

C. The Junos OS will use the IP address assigned to the loopback interface for the router ID. 

D. The Junos OS will use the IP address assigned to the Interface with the highest priority. 

Correct Answer: C 

Explanation: The router identifier is used by BGP and OSPF to identify the routing device from which a packet
originated. The router identifier usually is the IP address of the local routing device. If you do not configure a router
identifier, the IP address of the first interface to come online is used. This is usually the loopback interface. Otherwise,
the first hardware interface with an IP address is used 

 

QUESTION 4

Which configuration selling prohibits a static route from being redistributed by a dynamic routing protocol? 

A. route-filter 

B. no-readvertise 

C. qualified-next-hop 

D. passive 

Correct Answer: B 

 

QUESTION 5

Latest JN0-363 Dumps | JN0-363 VCE Dumps | JN0-363 Exam Questions                                3 / 4

https://www.geekcert.com/jn0-363.html
https://www.geekcert.com/jn0-363.html
https://www.geekcert.com/jn0-363.html


https://www.geekcert.com/jn0-363.html
2024 Latest geekcert JN0-363 PDF and VCE dumps Download

Which OSPF database packet determines which router is in charge of the database synchronization and the transferring
of LSA headers between the two systems? 

A. link-state request 

B. database description 

C. hello 

D. link-state update 

Correct Answer: B 

Explanation: the Database Description (DD) packets serve two main purposes: 

1.

 determinining which router is in charge of the database synchronization 

2.

 tansferring the LSA headers between the two systems 
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